
1

NOTE: Please read these instructions carefully before starting 
assembly

ITEM NO. E046-051-001

 

           
       

HASSEL-FREE WARRANTY

We proudly provid 1-YEAR warranty,if there is any questions with the
products please feel free to contact with us.

Assembly Instruc

Ema home@homeselecting.com

ons

The assembly will be easier with
2 people while 1 person could 
also do the job.

Around 10 MIN ASSEMBLY



2



PART LIST & HARDWARE

that may have come loose inside the carton during shipment.
3

Supporting feet

3PCS

4PCS1PC

1PC

1PC1PC

1PC

1PC

2PCS2PCS

2PCS 8PCS

2PCS2PCS 1PC

M8*16mm Bolt

32PCS

M8*45mm Bolt Butterfly nut

16PCS 4PCS 56PCS

Washer Alley key

1PC

12PCS 12PCS

Gasket

1PC

A B C D E

F G H I J

K L M N O

P

Q

GasketQ

R

M8*60mm Bolt

4PCS

W

S T U V

M8*16mm Bolt

1PC

M8*45mm Bolt Butterfly nut

1PC 1PC 1PC

WasherR

M8*60mm Bolt

1PC

W

S T U

Armrest Seat frame

Ottoman short 
board

Seat front board Seat back board

Backrest

Back cushion

Seat side board

PART LIS

HARDWARE

SPARE

Back fabric Seat cushion

lron seat frameConnector

Ottoman long 
board

Ottoman up Ottoman bottom 
board board



ASSEMBLY 
INSTRUCTIONS

Assemble the connector (L) to the H. Assemble the H to the G.

Assemble the H to the another G.

The Ottoman was finished.Put the Ottoman up board (M).

Assemble the Supporting feet (P) throught Ottoman 
bottom board (N) with Gasket(Q).

H
H

H

G

GP
Q

N

N

M

G
H

H

H

U VS

1 2

34

5

U VS

U VS

x16

x16S

U

4

Setp 1: Assemble the ottoman according to below pictures.

6



x9

x9

P

O

I I

II

K K

K

K

K

J

J

J
J

Assemble the connector (L) to the I and J Assemble the I and J to the K.

Assemble the I and J to another K.

x16

x16

U

S

1

3The side frame was finished.4

U VS

U VS

U VS

5

L

Setp 2: Assemble the side seat according to below pictures.

2



ASSEMBLY 
INSTRUCTIONS

    

6

I IA B B

K K KK

J J

UU
U VV

V R
R

R

x8

x8

U

R

A

UV R

x8

x4

U

W

x4T

Step 3: Assemble the armrest (A) to the Seat frame (B) and Seat side board (K) with 
Washers(U) and Bolts(R).You can choose the left or the right chaise for this step.

Step 4: Connect the Seat frame (B) to the Seat side board (K) with Washers (U),  
Butterfly nut (T) and Bolts (W).

OR

II A BB

KK K K

JJ

U T T U VV U WW U

A

OR



7

P

Q

P

Q

C C CC

U VR U VR

x8

x8

U

R

Step 5: Screw the Supporting feet (P) and Gaskets (Q) like below picture.

Step 6: Assemble the Backrest (C) to the Seat back board (J) and Seat frame (B) with 
Washers (S) and Bolts(R)

OR

OR



8

D D

C C CC

OR

OR

Step 8: Put the Back fabric (D) to the Back (C) like below picture.

O O
A A

B B

C C C C

Step 7: Put the Iron seat frame (O) on the side seat.



E
E E

Cut
Pat around evenly plump

F

F

F F F F

F

Cut
Pat around evenly plump

Step 7: The cushions is packaged by vacuum compression.After cutting 
the  package,it rebounds quickly within 4 hours.If the fabric has wrinkes,
it will basically disappear after standing for 72 hours

E

E

E E E E E

E

Cut
Pat around evenly plump

F*2

9

OR

Step 9: Put the Seat cushion (E) to the sofa like below picture.



E E E E
EE

E E

F F FF FF

10

Step 10: Put the Back cushion (F) to the sofa like below picture.

OR



WARRANTY

           

            

          

           

            

            

          

      

   

   

        

       

       

We strive to offer high-quality products, and we also try our•

best to satisfy each and every customer that orders from us with•

product or service as needed. We provide 1 year warranty•

starting from the time you receive the item. Each customer must•

provide a record of their order such as the order number, or•

item receipt for any items that are out of the warranty period,

you may also still receive replacement parts by purchasing them•

with our company if they are available.

    

       

Are you having difficulty

with assembly? Missing parts?

Please send email with your order No to

Appreciate your purchasing from us.

Pop up your life by our furniture piece

For return, please check the return policy with

the retailer or market place you bought from.

!

11

home@   homeselecting.com


